(436.8)

“ ' ° o °
il o @ ot
3 H o o o
N N N
q ’ r B o il \
EANLIFIE, RS
@ [ Y =11 = = R .
NL o) © © @ © @ http://www.canare.cojp e © © [oh L l\ ) (5},/\ J
Y * = [ X X I XXX I 1T T I I IrIr—— I 1 1T r——1r—— 1 r— [ = =] = =
B (429.2) N
= 427 / 9,
oNIEN /
I o __ i T
SIS ICICIC SIS ICICICICISISISISISISISY
g ,03 : U \J \J : EONGEE
” Relclololelvlelevvelevivcvevevieleloleoleon
Q] > : | ©
Y \ LQ 7777777777777777777777777777777777777777777777 S t\ 7777777777 U, /
4-7x10 o7
B 465 N
B 4826
<Model>
Please put and order connector panel color to “*” of the model name.
24DVS — %
—I_— Connector Panel Color Blank:black
*Note 1:Black used M—-CP1UV24B.
1 :brown 4 :yellow 7 :purple
9 | Label A-NP31 1 | Aluminum tape 2:red 5:green 8 :gray
8 | Dust Cap VJ-DC 48 | CANARE 3:orange 6 :blue 9 :white
7 | Dual Video Jack DVJB-S 24 | CANARE /Cross countersunk head M3x16 SUS *Note 2:Exoept Black used M-CP1UV24N.
6 | Card Rail M-DSRO01 2 | Alloy Steel (black) /A-SM25N (Cross countersunk head M2.5x6) ex) 24DVS—5
Card Cover M-DSCO01 2 | PC (clear) Dual Video Jack :DVJB-S (Straight through jack)
Card M-DSKO1 2 | 426x6.2 t0.2 Connector Panel Color 1green
5 | Bracket M-MA1U03 1 | Alloy Steel (black) t2.3 /Cross binding head M3x6 Fe/Zn/CM (black) <Accessories >
4 | Bracket M-MA1UO1 1 | Alloy Steel (black) t2.3 /Cross binding head M3x6 Fe/Zn/CM (black) Cross recessed binding head M5x15 Ep-Fe/Zn/CM black 4 pcs.
3 | Reinforcement M-FP02 2 | Alloy Steel (black) t1.0 /Cross countersunk head M3x5 Fe/Ni Plain Washers 5x12x1 Polycarbonate clear 4 pcs.
2 | Side Panel M-SP1U01 2 | Alloy Steel (black) t2.3 Number Label A-NPO1 yellow(1~32) 1 pcs.
1 | Connector Panel | M-CP1UV24 1 | Nylon 6 /Cross countersunk head M3x8 Fe/Zn/CM (black) TITEL  EIA 1U (24ch) PJTN  |UNIT|SCALE [TOL. DATE  Ver 1.3 |MODEL DRW.No.
ITEM | DESCRIPTION P/N QTY. | REMARKS VIDEO PATCHBAY @6 1:2 — 2015-01-23 24DVS—x* LL181E

A

A =GN GFTE




